[FiEBT|28 1 EEXR(5HA21H~31HEZES) JAL/JTA/JAC/RAC
EEEAAE 2020/4/23
E1-— A 3F rikh
X 2 3=2p:ulg)) RERI 5/21-31 fhg‘l;ﬂ e
XE® XEQ -
BER(CPA) =% ERERCE)FE | HiEFRE) JAL JTA/RAC | 20,200 70% | A H:20,500, %:25,300, £:25,600
BoE P$E(FRER) | JTA/RAC JAL 19,400 71% [B%£+£:19,700, B:25,000
BRE(CPA)=fR1E HRCHA)FE | ) JAL JTA/RAC [ 21,100 71%  |£:25,900, +:26,200
KB (BH) JAL JTA 25,000 69%  |%::27,800, 1:28,000, H:24,100
RiEH P8 (FRE) | JTA/RAC JAL 20,300 72% H % +:20,500, H:25,800
KR (R =ZE 5 R (R F | EECHHA) JAL JAL 24,500 66% | 8:24,900. £:24,300, 1:24,100, H:26,400
AL1R (7 F &%) JAL JAL 23,000 68% | A:23,400, A:23,500, %£:25,400, 1:24,700, H:19,800
225 Al RECHH) JAL JAL 23,600 68% H:24,000, A:23,400., €:24,600, £:22,400. H:25,900
ALIR (FrF &%) JAL JAL 26,600 63% |A:27,100, £:25,000, £:22,300, H:23,800
KBz (B8TE) =Z&im Al KBz (BAdE)$ | HECHHA) JAL JAL 24,500 66% H:24,900, %£::24,300, +:24,100, H:26,400
LR (37 F %) JAL JAL 25,600 64%  |H:26,000, /&:26,100, £:26,500, 1:24,700, H:21,400
225 Bl 5 BHE(CHH) JAL JAL 23,600 68% | H:24,000, A:23,400, %£:24,600, 1:22 400, H:25,900
AAC ) JAL JAL 26,600 63%  |A:27,100., £:25,000, +:22,300. H:23,800
KB ({FF1) =h8)1] AERGFEMFE | EECHHA) JAL JAL 24,700 65% | B:25,100, A& H:26,400, €:26,000, 1:24,300
MBI F HE(CHH) JAL JAL 24,600 65% | A:25,100, A:25,500, %£:25,600, 1:25300, H:24,300
KBz (B8FR) =AB)II R (BEFE)F | ERECFHA) JAL JAL 24,700 65% H:25,100, A& H:26,400. £:26,000, 1:24,300
NBJIF BHE(CHH) JAL JAL 24,600 65% | H:25,100, A:25,500, ££:25,600, 1:25,300, H:24,300
KB ((RF) =8I RKERUFFHFE | ERECHH) JAL JAL 26,900 62% |ZA:27,700, €:28,900, £:28,000, H:26,000
HIIFRFE RHE(CHH) JAL JAL 25,900 63% |A:25,700, €:27,300, +:25,000, H:25,500
KBz (B878) = 8I& AR (BEFE)FE | EE(FH) JAL JAL 26,900 62% |A:27,700. £:28,900, £:28,000, H:26,000
BIERF BHE(CHHE) JAL JAL 25,900 63% |A:25,700., €:27,300. £:25,000. H:25,500
K (R =FIa AERGFEMFE | BECHHA) JAL JAL 23,900 66% | 8:24,300, £:24,700, 1:23,400, H:26,800
wILF BHE(CHH) JAL JAL 23,900 66% | F:24,300, &:24,600, %£:25,400, 1:25300, H:24,400
K (BE8) =%k KR (BFE) ¥ | HRCHH) JAL JAL 23,900 66% | H:24,300, £:24,700, +:23,400, H:26,800
wILF BHERECHH) JAL JAL 23,900 66%  |F:24,300, 7:24,600, £:25,400, 1:25,300, H:24,400
KR (FRFT) =EREE ABRUREMFE | ERE(FHA) JAL JAL 22,700 63%  |7A:22,900, €:25,100, £:21,900, H:24,700
BREEH BHERECHH) JAL JAL 23,600 62% | B:24,000, A&:23,400, €:24,600, +:21,800. H:25,000
K (B87E) =EREE AR (BEFE)FE | EE(FH) JAL JAL 22,700 63% |7A:22,900. £:25,100, £:21,900, H:24,700
EREEH E A CR]ED) JAL JAL 23,600 62% H:24,000., A:23,400., €:24,600, £:21,800. H:25,000
Kk (FF1) ==IR AERGFEMFE | BECHHA) JAL JAL 22,200 63% [#£H:22,900, 1:22,000
=ZiR¥E BHE(CHH) JAL JAL 23,600 60% |A:23,400. £:25,000, £:22,200, H:23,200
Kz (B8FR) ==iR R (BEFE)F | ERECFHA) JAL JAL 22200 63% |€H:22,900, £:22,000
=R HECHH) JAL JAL 23,600 60% |A:23,400. £:25,000, £:22,200, H:23,200
KR ((RF1) =205 KR (R HE JAL JAC 16,200 55% |B£1H:16,700
25z & HE JAC JAL 16,900 53% A% H:17,400, 1:17,800
KR (R =2+ 5 KR (FF1) F BRE JAL JAL/JAC | 23,000 49% | B£H:23,200, &:22,700, £:23,900
EFER BERE JAL/JAC JAL 23,700 47% | B A:24,100, €:25,900, £:23,100, H:25,300
K (R =21 AR RE)FE | 48 FARER) JAL JTA/RAC | 21,500 64%  [%£:23,300. 1:25,900. H:20,800
2o P8 (BRE) | JTA/RAC JAL 20,900 65% | 8:21,200, £:19,100, £:19,000, H:20,100
Kz (BAdE) ==4& AR (BEPE)FE | H4E (ARER) JTA JTA/RAC [ 21,500 64%  [%£:23,300. 1:25,900, H:20,800
2o hEE(ARER) | JTA/RAC JTA 20,900 65% | B:21,200. £:19,100, £:19,000, H:20,100
K (R =R1E AR R FE | HiEARER) JAL JTA/RAC | 22,700 65%  [%:24,300. 1:26,300, H:22,400
AiEF P42 (FRE) | JTA/RAC JAL 24,400 63% | H:24,700, K%:24,600, H:26,600
KBz (B8dE) =H1iE AR (BEFR) F | A8 (ARER) JTA JTA/RAC | 22,700 65%  [%:24,300. 1:26,300. H:22,400
RiEF iR GIRER) | JTA/RAC JTA 24,400 63% H:24,700, &X%:24,600, H:26,600
L2 B (&) =% 5l 2o E (PSR | #LIR G FE) JAL JAL 25,200 62% H:25,600, &A%:25,700, 1:26,700, H:23,600
i Al F AL1R (7 F &%) JAL JAL 22,600 66% |A:23,500, €:25,300, £:23,400, H:24,200
ZEE(PE) =2 2 E(PE)H | A GRE) JTA JTA/RAC | 20,000 69% |[B%:20,300, £ H:21,100
2o hEE(ARER) | JTA/RAC JTA 19,400 70% |A#£ +:20,200, H:21,100
HEE(PE) =hR1iE AEEPED) ¥ | i GRER) JTA JTA/RAC | 20,900 70% [+ H:21,700
AiEF P8 (FRE) | JTA/RAC JTA 19,800 72% |B%£1£:20,600. A&:20,200, H:21,700
LR (BT FaR) =/ LR (BT FaR) % | HHECHHE) JAL JAL 23,000 64% |A:23,200. £:25,600, £:21,700, H:29,000
INFA S RECHH) JAL JAL 23,700 63% | B:24,000, &*:25,100, £:29,100, H:23,100
AR FFR) =i [FRETFR)FE | HRECHHE) JAL JAL 30,100 58% |A:30,400., £:31,700, +:31,400, H:28,700
BAitEER BEXHE(CHH) JAL JAL 28,800 60% |7:29,100. £:34,200, £:28,600, H:30,600
FLIR (B F#%) =W ALIR R TR % | HECHHE) JAL JAL 27,900 62% |A:28,100. £:29,800. *:25,600, H:30,300
fif] LU F HECHH) JAL JAL 26,900 63% |A:27,200. £:31,300, £:28,500, H:25,500
FIR(FTTFR) =L LR (BT FaR) % | HECHHE) JAL JAL 29,600 60%  [%:30,200. 1:26,600. H:30,300
LEH RHE CHA) JAL JAL 27,200 63% |A:28,400. £:32,400, 1:27,800, H:25,700
AR EFFR) =WOFE | FIREFTFH)E | ERCHA) JAL JAL 24,900 68% | A:25,300. A:25,200, £:26,800, H:31,600
WO BHE(CHHE) JAL JAL 25,400 67% H:25,900., A&:27,100, £:31,800, £:27,500, H:26,000
IR FTFR) =HE AR FTTFm)FE | RRCHHE) JAL JAL 32,100 55% |ZA:32,400. £:32,900, *:33,500, H:35,700
HEH BEXHE(CHH) JAL JAL 32,300 55%  |ZA:32,700. €:37,000., £:30,800, H:33,000
LR GEFTR) =S AR FT TR FE | ERCHHE) JAL JAL 26,500 63% |7A:26,800, £:29,100, +:25,200, H:28,900
EmEX RERE(CHH) JAL JAL 27,400 62% | F:27,800, A:28,900. £:32,900, £:27,000, H:25,000
FLIR (BT Fm) =5 LR (BT FaR) ¥ | HECHHE) JAL JAL 29,200 59%  |7:29,300., €:31,400, £:25,800, H:34,400
S RECHH) JAL JAL 29,100 60% |[A:29,400, €:34,200, +:30,700. H:29,200
IR (FrFmR) =540 LR BT FaR) % | HRECHHE) JAL JAL 28,700 61% |7:29,300. £:30,400, £:25500, H:33,200
=ik E A CR]ED) JAL JAL 28,700 61% H:29,100., A:30,200, %:34,200, 1:30,800, H:27,500
LR (B F k) =+ AR FTTFm)FE | RRCHHE) JAL JAL 29,700 60% |7A:29,800. £:32,600, £:27,300, H:35,200
NIIE:S BEXHE(CHH) JAL JAL 29,000 61% | A:29,500, A:31,000, %£:35,000, 1:30,300, H:29,200
LR (FrF %) =db LR G FR) % | HECHHE) JAL JAL 30,700 62%  |A:31,000, £:32,900, +:29,900, H:37,100
Jt L F HECHH) JAL JAL 28,900 64% |7A:29,200. £:34,400, 1:31,400, H:30,500
LR (FFFmR) =K% LR (BT FaR) ¥ | HECHHE) JAL JAL 29,700 62% | B A:30,000, £:32,600, +:30,700, H:35,700
PN HR (CHA) JAL JAL 29,800 62% | A:31,500, A:31,300, £:35,700, $:32,200, H:31,100
LR (FrFR) =R& LR BT FaR) % | HECHHE) JAL JAL 30,200 63% | H:30,600, A:30,900, ££:32,600, 1:31,700, H:34,200
RIGF BECHH) JAL JAL 30,300 63% |AH:31,100, %£:36,100, +:32,600
FLIR (BT F k) =RER AR FTTFm)FE | RRCHHE) JAL JAL 30,400 62% | 8:30,700. £:32,300, *:31,500, H:35,700
BEARFE BEXHE(CHH) JAL JAL 29,800 63% | H:29,900, A:31,400, %£:35,800, 1:33,100, H:31,700




[FiEBT|28 1 EEXR(5HA21H~31HEZES) JAL/JTA/JAC/RAC
EEEAAE 2020/4/23
E1-— A 3F rikh
X 2 3=2p:ulg)) RERI 5/21-31 fhg‘l;ﬂ e
XED XEQ -
LR (B FR) == 15 LR BT FaR) % | HECHHE) JAL JAL 29,200 64%  [£:31,000. 1:30,000. H:34,800
= I BHE(CHHE) JAL JAL 28,900 64% | A:29,000, A:30,600, :34,900, 1:32,200, H:29,100
AR (FTTm) =R LR BT FaR) % | HECHHE) JAL JAL 28,000 66%  [H:29,200, Z:30,000, £:31,000, +:31,500, H:35,700
BREH BHE(CHH) JAL JAL 27,800 66% | A:30,300, A:28,400, %£:35,500, 1:32,400, H:31,100
LR G FR) = GRE) | #LIR(FTFH)F | EHECHA) JAL JAL 27,800 67%  [£:34,200, £:34,300, H:33,500
AR (FFH) JAL JAL 18,000 79% |+ H:19,400
KPR (B978) JAL JTA 15,100 83% [+ H:18,900
2o E(FE) JAL JTA 23,900 72%  |£:27,200. +:29,200. H:30,100
f2 ] JAL JTA 27,800 69% +:28,500, H:29,900
PRGNSR [ EE(PFHA) JAL JAL 27,600 67% |7A:27,900. €:31,600, £:26,000, H:33,000
AR £ JAL JAL 18,000 79% [+ H:19,400
KB (BH) JTA JAL 20,700 76%  |%:22,600, +:24,300, H:20,100
2 E (FE) JTA JAL 21,800 75% | B:21,700, €:23,400, £:23,200, H:25,400
f2 JTA JAL 27,800 69%  [£:28,400, 1:29,900, H:28,500
LR (FTFrR) =RE LR (BT FaR) % | HECHHE) JAL JTA 30,100 72% | A:30,400, % H:32,800, 1:34,400
AiEH HERECHH) JTA JAL 31,300 70%  |A:31,600. £:32,800, 1:34,000, H:34,400
12 =2 Al f2fE 5 BHE(CHH) JAL JAL 31,000 65% | A8:31,400, £:31,900, 1:33,200, H:34,400
FLIR (BT T %) JAL JAL 29,000 65%  |A:29,500. £:30,100, +:26,500, H:26,400
ZE A RHE(CHH) JAL JAL 29,500 67% | 8:29,900. £:35,600, 1:29,700, H:32,800
ALIR (1 F %) JAL JAL 24,500 70% | H:24,900, A:25,000, ££:25,900, 1:23,200, H:21,500
BE=eN 12 F B (CHA) JAL JAL 30,600 65%  [H:31,000, &:32,300, £:33,000, 1:31,700, H:34,400
CHIES RERE(CHH) JAL JAL 28,700 67% | B A:29,100, £:34,800, +:31,700. H:30,400
2 =8I 12 F R () JAL JAL 33,400 61%  [7A:34,200, £ +:35,700, H:34,000
i | D HERECHH) JAL JAL 31,800 63% |£:35,700. +:30,600. H:32,400
B =% f2fE 5 BHE(CHH) JAL JAL 30,200 65% | A8:30,600, £:32,100, 1:32,300, H:34,800
wILF R (FHA) JAL JAL 29,500 66% |H:29,900, £:35,300, +:32,600, H:31,100
12 =g 125 RRE(CHH) JAL JAL 28,600 63% | F:28,700, A:28,800, £:32,500, 1:31,000, H:32,700
KR FF1) JAL JAL 23,700 66%  |%:27,600, 1:28,400, H:24,600
EREE 5 HE(CHHE) JAL JAL 29,000 63% H:29,400, %:30,700, 1:29,100, H:31,200
AR (FFH) JAL JAL 22,500 68%  |7A:24,600. % H:26,000, 1:24,300
B =F#% R HECHH) JAL JAL 28,800 62%  |%:33,100, +:28,000. H:30,500
KR (FF1) JAL JAL 19,200 71%  |A:19,600. £:21,400, £:22,000, H:20,200
BEHR R (CHA) JAL JAL 29,700 61%  [£:34,300, £:30,600, H:29,000
KR ({F71) JAL JAL 19,200 71% | A:21,400, £:23,100, +:22,800, H:24,100
BER==; 125 RE(CHH) JAL JAL 27,200 64% F:28,100, €:28,600, 1:29,800, H:29,300
KR R JAL JAL 21,500 69%  [H:25,700, K H:25,600, & 1:27,400
=R¥ E A CR]ED) JAL JAL 29,500 61% [%:36,000, H:30,100
AR (FFH) JAL JAL 21,500 69% H:25,200, K:23,600, % H:29,100, £:24,900
B =15 12 F RBir (FEF) JAL JAL 31,600 52% | A 7A:29,900., €:33,300, £:32,900, H:36,200
TEEH KR FFH JAL JAL 24,700 62% |A:27,300. £:34,200. + H:32,500
faff =% HA f2fE 5 RHE(CHH) JAL JAL 30,700 56%  [%:31,600. 1:26,400. H:25,400
KR ({F71) JAL JAL 20,100 68%  |%:23,700, +:23,300, H:26,200
FUEFE RE(CHH) JAL JAL 29,900 57% |A:32,100, €:34,400, +:27,700. H:25,200
KR R JAL JAL 20,200 68%  |7A:22,800, % H:23,400, £:23,700
f2fE =1 fam HERECHH) JAL JAL 23,300 62% | B:23,800. £:25,900. £:22,800, H:26,500
AR (FFH) JAL JAL 21,900 64% H:23,700, A:20,100, €:26,300, £:25500, H:24,500
LIS 5 BHE(CHH) JAL JAL 25,100 59% |ZA:27,300., €:28,000, £:28,200, H:22,700
KR {#F1) JAL JAL 21,900 64% H:21,300, A&:23,400, £:29,600, 1:27,900, H:28,800
2 =#5 ARk KR EF) JAL JAL 22,700 61% [#£H:24,700, 1:24,500
¥ KR ({FF1) JAL JAL 22,100 62% |AK£ 1 H:24,700
f2RE =/ iAbaki HERECHH) JAL JAL 26,200 61%
IR S BEXR(CHH) JAL JAL 26,200 61%  |%:30,000
fER=2d 125 hfE (R ER) JTA JTA/RAC | 16,400 68% |B:16,600. £:16,700, £:17,000, H:17,100
2o 42 (FRF;) | JTA/RAC JTA 16,000 69% |A:16,300. £:16,800, £:17,000, H:17,500
el =H1E f2fE 5 e (FRER) JTA JTA/RAC | 17,300 70% [+ H:17,700
RIEX PEEGIRER) | JTA/RAC JTA 16,900 71% H:17,100, £:17,600, £:17,800, H:18,300
iRl =1E%E 2Rl F ALIR B F %) JAL JAL 25,400 52% | F:23,400, A:23,900, %:26,000, 1:20,800, H:24,400
TEEHX FLIR (BT F %) JAL JAL 25,100 53% | A:23,800, A:23,900, £:27,600, 1:23,600, H:20,800
ZER=1lE 225 Bl 3 ALIR (BT T %) JAL JAL 22,300 61% H:22,700, A:23,200, £:25,800, 1:19,800. H:20,300
=% ALIR (7 F %) JAL JAL 21,800 62% | H:22,600, A:22,300, $:22,700, 1:18,800, H:17,900
iR =8 25 Bl ALAC ) JAL JAL 24,400 58% | A%:24,900, 1:22,200, H:21,300
% ALR (BT T %) JAL JAL 25,200 57% | B8:25,600, &A£:25,700, £:21,800, H:23,100
25 Al = /A 225 Bl 5 BEXHE(CHH) JAL JAL 21,100 71% | B8:21,500, £:21,900, £:21,000, H:23,500
INYFE B (CHH) JAL JAL 22,200 69% H:22.,600., A:22,300., €:22,700, £:23,100, H:24,300
A =it Bk BAitEER RERE(CHH) JAL JAL 28,600 64% | AAR1:29,000, £:29,400, H:31,900
Z0E Al =R i Al F BHE(CHHE) JAL JAL 26,000 68% [B:26,400. &:26,100. £ H:26,500, +:24,000
fif] LU F RECHH) JAL JAL 26,600 67% | B:27,000, €:25500, 1:26,100, H:27,300
T =IL5 225 Bl 5 BEXR(CHH) JAL JAL 25,700 69%  [H:26,100, £ H:26,500, 1:24,000
FLIR G F %) JAL JAL 22,800 70%  [A:23,300. €:27,600, +:23,600. H:24,700
IN=F:5 HERECHH) JAL JAL 26,900 67% | A HB:27,300, £:27,800, +:26,100
ALIR (Fr F %) JAL JAL 22,800 70% | A:24,100, A:23,300, %£:28,300, 1:24,700, H:23,600
Zim Al =HE 225 Al BECHHE) JAL JAL 25,900 68% F:26,300., A:26,600, £:27,000, 1:27,400, H:29,500
HEZ RHE(CHH) JAL JAL 27,400 66% | B A:27,.800., £:29,800, +:30,800. H:30,300
Zm Al =8 i Al BHE(CHHE) JAL JAL 27,800 67% F:28,200, £:29,300, £:25,800, H:31,400
NIIES RRECHH) JAL JAL 27,400 67% |B%:27,.800, 1:28,700, H:30,300
Zimpl=H1E 225 Bl 5 BHE(CHH) JAL JTA 30,000 74% | B:30,400. £:32,000, 1:33,700, H:34,500
RIEH BHE(CHHE) JTA JAL 32,400 72% A K:32,800, %:33,200, +:34,500, H:37,000
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X 2 3=2p:ulg)) RERI 5/21-31 fhg‘l;ﬂ e
XED XEQ -
B =M HBJIF BHE(CHH) JAL JAL 23,100 67% |HAA:23,600, %£:24,600, 1:23,900
INYFE BHE(CHHE) JAL JAL 23,100 67% H K:23,600, £:24,000, H:24,300
BJIl=mitBaE nBJIZ HECHH) JAL JAL 21,600 72% | B:22,000. £:22,800, 1:21,300, H:24,200
EAitEER BHE(CHH) JAL JAL 29,800 62% |7:30,300. £:30,700, £:30,100, H:31,900
ABJI=FE W ETE:S B (CHA) JAL JAL 25,200 68%  |[H:25,600, A:25500, £:26,600, 1:26,900, H:26,100
fif] LU F HECHH) JAL JAL 27,400 65% |A:27,900. £:26,800, 1:26,100, H:27,300
BI=HE ABJIF BHE(CHH) JAL JAL 27,900 64% | F:28,400, A:29,100, %:29,700, £:30,300, H:29,400
HEH HERECHH) JAL JAL 28,500 63% | 8:29,000. A&:29,100. £:31,100, 1:30,600. H:30,300
ABJII=#21L ABJIF BHE(CHH) JAL JAL 27,400 66% | B A:27,900., £:28,500, +:28,700, H:28,900
NS BHE(CHHE) JAL JAL 27,800 66% H £:28,200, AK:29,500, £:29,900, H:30,300
BJIl=H"iE nBJIF RE(CHH) JAL JTA 32,000 72% H A:32,500., €:34,700, 1:36,600, H:34,100
AiEH BHE(CHH) JTA JAL 33,600 70%  |A:34,100. €:34,500, £:35,600, H:37,000
BINER =/ B F B (CHA) JAL JAL 23,300 66%  |%:24,100, +:23,800. H:23,100
INEA S HECHH) JAL JAL 24,600 65% |A:25,400. £:27,400, £:27,000, H:23,900
Pl =rkc B PR F HE(CHH) JAL JAL 22,300 71% | B A:22,600, £:23,600, 1:23,400, H:23,800
E=Ri%id RRECHH) JAL JAL 28,200 64% H A:28,600, € 1:29,000. H:31,500
8| & =Rzl IR FE BHE(CHH) JAL JAL 28,300 64% |7A:28,400. £:29,200, 1:26,600, H:26,100
[if] L F& BHE(CHHE) JAL JAL 29,000 63%  |A:29,800. £:30,300, 1:30,000, H:26,900
HIRR=IL5 IR F HERECHH) JAL JAL 28,000 65% |#:29,200, 1:26,800. H:26,100
LEF BEH(CHH) JAL JAL 29,300 63% |ZA:30,100. £:32,100, £:30,000, H:26,900
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EE(hER) =) 2EE(PEDFE | ERCIA) JAL JAL 20,600 69% |8 H:21,000, A&:22,300, £:22,700, +:21,800
NBJIF RECHH) JAL JAL 23,800 64% B4 1:24,300, H:25,300
%EE(PE) =g AEEPEHE | ERECHH) JAL JAL 18,600 67% |7:18,800. £:20,000, £:20,100, H:19,900
EREE 3 BHE(CHHE) JAL JAL 24,800 56% H£:25,300, 1:24,200, BH:27,300
WOFE =25 WO &R 3 RE(CHH) JAL JAL 24,600 72% | B:25,000, €:25,600, 1:25,900, H:28,600
225 Bl 5 BEXHE(CHH) JAL JAL 28,800 67% | A 1£:29,300, £:29,500, H:34,700
SR =2 SWFE HERECHH) JAL JAL 27,000 67% |B:27,400. £:28,100. £:29,000, H:29,800
2Rl F RHE(CHH) JAL JAL 33,100 59% | A8:33,600, £:34,100, 1:30,800, H:37,200
5B =2 A EEH B CHH) JAL JAL 25,100 69% | A%:25,500, +:25,000, H:26,900
225 Al FE RRECHH) JAL JAL 24,600 70% H:25,000, €:25,800, +:22,600, H:25,100




[FiEBT|28 1 EEXR(5HA21H~31HEZES) JAL/JTA/JAC/RAC
EEEAAE 2020/4/23
E1-— A 3F rikh
X 2 3=2p:ulg)) RERI 5/21-31 fhg‘l;ﬂ e
XED XEQ -
=& =2 Al SEFE R (HA) JAL JAL 26,000 69% |H:26,400, £:27,200, +:28,200, H:28,300
25 Al F BHE(CHHE) JAL JAL 27,100 67% H£:27,500, 1:24,800, H:29,400
b AL =2 Al Jt L F RHE(CHH) JAL JAL 36,400 59% |8 %:36,900, +:37,000, H:38,500
225 Bl F BHE(CHH) JAL JAL 36,000 60% | 8:36,500, €:37,000, 1:34,400, H:41,600
K5 =% R KA % B (CHA) JAL JAL 28,500 67%  |[H:30,600, #:28,800, £:29,800, 1:30,800, H:32,700
22388 I HE CHA) JAL JAL 27,800 68% | A 1:28,200, £:29,300, H:31,900
RG=2m 5 FIGE BHE(CHH) JAL JAL 29,500 68% | A:29,900, A:29,400, %:31,600, 1:31,000, H:33,100
25 Al F RECHH) JAL JAL 27,400 70% H:27,800., € +:28,200, H:31,100
REAR=2C 5 BEARFE BHE(CHH) JAL JAL 28,500 68% | H:29,300, A:28,600. £:30,300, F:31,000, H:33,500
25 Al F BHE(CHHE) JAL JAL 27,700 69% H:28,100, £:28,500, £:28,900, H:31,600
B % =25 Al =I5 F RHE(CHH) JAL JAL 27,600 69% | 8:28,000. £:28,200, 1:29,100, H:30,700
225 Bl F BHE(CHH) JAL JAL 26,600 70% | B:27,000, £:27,800, £:27,400, H:31,000
BRE=%&iE5 BEREX RERECHH) JAL JAL 27,800 70% F:29,000, A:28,200, %£:28,600, 1:30,600, H:32,700
25 Bl 3 RHE(CHH) JAL JAL 25,400 72% H 1:27,700., £:28,200, H:32,200
iR (BRER) = Zim Al PRGNS FE | RE(FHA) JAL JAL 26,400 72% | AAR1:26,800, £:27,200, H:34,300
25 Al F RRECHH) JAL JAL 24,400 74% H:24,800. €:26,300, +:27,800, H:29,700
FIRFTR) =EXXE |[AREFTHE)HE | FRRCHH) JAL JAL 32,200 65%  |F:32,800, 7:34,100, £:34,000, +:33,700, H:33,000
BEXAER HECHH) JAL JAL 31,000 66%  [H:32,600, A:31,400, £:34,200, 1:30,200, H:32,900
BEHR=TEXKXE EHEX HECHA) JAL JAL 28,800 67%  |7:30,400. ¥ 1:31,000, H:30,200
BEXRER BEH(CHH) JAL JAL 28,800 67% | H:30,400, £:30,200, H:31,800
ME=8EXKE FNEZ RERECHH) JAL JAL 30,800 62%  |7A:32,400. €:33,100, £:27,100, H:26,300
TEEREH B (CHA) JAL JAL 29,400 64% | H:31,000, £:30,300, +:25,100, H:26,700
INR=EEKXE IR S BHE(CHH) JAL JAL 25,000 68% | A%:26,600, 1:26,200, H:25,400
BEXEH HERECHH) JAL JAL 25,000 68% | :26,600, +:24,600. H:26,200
INA=TEHRERE IR S BHE(CHH) JAL JAL 23,500 60%  [£:24,300. 1:23,800. H:23,000
B aER HECHH) JAL JAL 22,600 61% |£:22,200
WO &8 =SIR& IO AR5 HECHA) JAL JAL 27,000 68% |A:27,800. £:30,200, 1:29,800, H:28,200
i | b BEH(CHH) JAL JAL 25,300 70%  [£:26,300. 1:25400. H:27,400
=R =8I SFE HERECHH) JAL JAL 29,400 62%  [A:30,200, £ 1:32,900
HIIFRFE RRE(CHH) JAL JAL 28,800 63%  [%£:30,000. 1:27,400. H:29,400
EE=2I% EEH BHE(CHH) JAL JAL 27,500 65% |7A:28,300. £:30,300, £:28,900, H:26,500
B BRF RRECHH) JAL JAL 26,900 66% |%£:28,500, 1:25,400. H:24,700
S50 =8I3& SEFE BEHE(CHH) JAL JAL 28,400 65% |A:29,200. £:32,000, £:32,100, H:27,900
B ERF BHE(CHHE) JAL JAL 29,400 63%  |%:30,200, +:26,900, H:29,000
e =SE& Je o F B (CHA) JAL JAL 31,500 63% |A:32,300. £:34,300, *:33,500, H:30,400
i | b BEH(CHH) JAL JAL 31,100 64%  [£:32,300. 1:29,500. H:32,900
Ko =8k Ko B CHH) JAL JAL 30,900 64% | H:32,600, A:32,000, %:34,600, 1:34,700, H:32,300
Fi | b B (CHA) JAL JAL 30,100 65% |%:32,000, +:31,000. H:31,500
RIE =3I FIGF BHE(CHHE) JAL JAL 31,000 65% |7A:31,800., €:34,500, 1:34,900, H:32,700
i | D RRECHH) JAL JAL 29,700 67% [B:30,400. & H:29,900., £:31,800. +:30,100
REAR =§IRR EERFE B (HA) JAL JAL 30,900 64% | H:31,300, A:31,800, £ 1:34,900. H:33,100
|| f i BHE(CHHE) JAL JAL 30,000 65% |4 H:31,200, £:30,100
= I = g% =IEF HE CHA) JAL JAL 30,000 65%  |7<:30,800., ¥ 1:33,000, H:30,300
i | b BEH(CHH) JAL JAL 28,500 67% | B A:28,:800., £:30,500, +:29,300, H:30,600
IR B =8I BREX HERECHH) JAL JAL 29,800 66% |A:30,600, £:32,600, 1:34,500, H:32,300
Fi | b B (CHA) JAL JAL 27,700 69% | H:29,600., £:30,900, +:28,900, H:31,800
s (BRER) = BIR& PRGNS FE | RE(FHA) JAL JAL 26,000 71% | B 7A:26,400, % 1:27,300, H:33,900
BIRRF HECHH) JAL JAL 26,700 71%  [#£:29,000, 1:28,600, H:29,300
LE=%h LEXE HERECHH) JAL JAL 26,800 66% | B A:27,200. £:28,200, 1:25,200, H:27,700
wILF BHE(CHHE) JAL JAL 25,700 68% | A:26,100, £:27,800, £:26,900, H:25,200
WAFE =5k IO AR5 RHE CHA) JAL JAL 24,200 71% | B A:24,600. £:26,000, 1:24,800, H:29,000
L F BERECHH) JAL JAL 23,000 72% | H:23,400, £:23,600, 1:22,600, H:26,100
[STNSE TN SWFE B CHA) JAL JAL 26,600 66% | B A:27,000, £:27,800. +:27,700. H:30,200
wILFE B (CHA) JAL JAL 26,500 66% | H:26,900, £:27,300, +:27,200, H:28,100
EE=%5 EmEX HECHH) JAL JAL 25,100 68% | A A:25,500, €:25900, £:24,800, H:27,300
wILF R (CHA) JAL JAL 24,600 68% | B A:25,000, £:27,800. +:25,500, H:23,800
==/ S0 RHE(CHH) JAL JAL 24,800 69% | 8:25,200. £:26,000, 1:26,900, H:26,600
wILF BHE(CHHE) JAL JAL 27,100 66% A #%:27,500, & H:27,700
M=k Je o F B (CHA) JAL JAL 28,500 67% | B A:28,900. £:29,600, 1:28,400, H:31,200
L F BHECHH) JAL JAL 28,800 66% | H:29,200, £:30,000, +:30,400, H:31,600
KA =%k A% RECHH) JAL JAL 28,600 66% |8 %:29,400, A&:29,000, +:29,500, H:33,100
wILF RE(CHH) JAL JAL 28,600 66% H A:29,000., €:30,700, £:31,100, H:30,400
RiG="%5 RIGF HECHH) JAL JAL 29,900 66%  [H:30,300, /:29,800, £:32,000, £:29,700, H:33,500
wILF HE (CHA) JAL JAL 28,600 68% | B A:29,000, £:30,700. 1:31,100, H:29,800
REER=FIA BERFE RERE(CHH) JAL JAL 28,600 67% | F:29,500, A:29,000. £:30,700, 1:29,900, H:33,900
wILF BHE(CHHE) JAL JAL 28,600 67% | B A:29,000, £:31,000, +:31,800, H:30,200
B =k =IEFE HERECHH) JAL JAL 27,300 68% | 8:28,100, A&:27,700. £:28,500, 1:29,300. H:31,100
L F BERECHH) JAL JAL 27,700 68%  |F:28,600, 7:28,100, £:29,900, 1:29,800, H:29,300
ERE=% BEREX B CHH) JAL JAL 28,200 68% | 8:29,400, A:28,600. £:29,000, 1+:29,300, H:33,100
L F HECHA) JAL JAL 26,600 70% | B:27,700. A&:27,000. £:28,300, 1:30,600. H:30,500
e (B8R =wh PRGNS E | EE(PHA) JAL JAL 26,800 70% | AAR£:27,200, £:27,600, H:34,700
wILF B (CHH) JAL JAL 24,700 73% H K:25,100, £:27,500, 1:30,300, H:28,000
BJ=5 NBJIF RHE(CHH) JAL JAL 26,500 66% | 8:26,900. £:27,300, 1:27,200, H:28,100
S BHE(CHHE) JAL JAL 27,400 65% A K:27,900, %:29,100, 1:28,200, H:29,800
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E1-— A 3F rikh
X 2 3=2p:ulg)) RERI 5/21-31 fhg‘l;ﬂ e
XED XEQ -
HEE=2 BREE % BHE(CHH) JAL JAL 26,500 62% | 8:26,900. £:27,300, 1:23,800, H:28,900
S BHE(CHHE) JAL JAL 26,100 63% |A:26,300, £:28,200, 1+:26,800, H:28,100
BEE=12 8 BREES HECHA) JAL JAL 24,600 65% | H:25,000, £:25,800, 1:22,000, H:24,200
mEH BHE(CHH) JAL JAL 24,600 65% |7A:24,800. £:26,300, £:22,800, H:25,200
BEE=12 40 EREES B (CHA) JAL JAL 25,400 65%  |H£:25800, £:24,200, H:27,600
S0 HECHH) JAL JAL 24,100 66% |A:24,300. £:26,900, 1:26,000, H:26,600
EHEE=ILOFER EREE 3 BHE(CHH) JAL JAL 23,000 69% | 8:23,400, £:23,600, £:22,800, H:26,900
IO AR5 HE CHA) JAL JAL 23,700 69% |A:23,900. £:26,400. H:26,900
BER(PHE) =2R RECHHE)H EKEE JAL JAL 19,700 62% | H:20,100, A:20,600, ££:21,200, F:22,200, H:21,000
BRF EKEE JAL JAL 19,700 62% H£:20,100, £:20,600, H:23,000
KR (FEM)=8R BRKE EKEE JAL JAL 21,400 65% |+ H:22,700
e (RER) =8 hiE (ARER) f2 JTA JAL 19,500 67% |1:20,200, H:20,700
EEH 12 JAL JTA 19,100 68% |+ H:19,800
BI=ES ABJIIZE RHE(CHH) JAL JAL 25,400 68% | B A:25,900., £:28,000, +:25500, H:24,700
EEH HE(CHH) JAL JAL 25,900 67% | B A:26,400, £:26,800, 1:25700, H:26,900
BI=X% NB)IF RRECHH) JAL JAL 29,400 66% H A:29,900., €:30,900, £:31,100. H:30,400
PN BHE(CHH) JAL JAL 29,400 66% | H:31,000, A:30,100, %:31,100, £:30,600, H:31,600
FLIR (k) =RR FLIR (ER) EREE JAL JAL 17,300 51%
BRKE EREE JAL JAL 17,300 51%
]| i e B i | b #L1R (L ER) JAL JAL 19,300 54%
EREE 3 LR (E3) JAL JAL 19,300 54%
gk ==iR HIIFRFE FLIR (L ER) JAL JAL 23,300 50% | H:20,200
—IRE FLIR (ER) JAL JAL 20,200 57% | B:23,300, + H:22,400
F R =FKEE FIRF LR (EER) JAL JAL 19,700 55% |+:21,700. H:23,300
BREE S FL1RE (L ER) JAL JAL 22,200 49% |£:23,300, H:21,700
IR =2IE& FIFRFE FLIR (EER) JAL JAL 19,400 59% [+£:21,400, H:23,300
HIIFRF FLIR (L ER) JAL JAL 19,400 59%  |A%:23,000, 1:23,300, H:21,400
=R=%FR ZIR¥% #L1RE (L ER) JAL JAL 19,000 61% |1+ H:23,200
FIFRFE LR (EER) JAL JAL 12,700 74% |XH:15,300
mE=52% mEX 12 JAL JAL 16,200 68% H:17,200
= I 12 JAL JAL 16,600 67% |B:16,200, A%:17,900, +:18,300, H:16,700
SH=FERE S 12 JAL JAC 23,600 51% |+ H:22,000
Sx1=haJ SEFE HECHH) JAL JAL 27,000 67% | B8:27,400. A:28,700, £:29,100. + H:28,300
HBJIF BHE(CHHE) JAL JAL 26,300 68% F:26,700, & 1:27,700, H:26,900
W OFER=he) IO AR5 HE CHA) JAL JAL 25,400 70% | B:25,500. A&:25,900. £:26,900, 1:25,700. H:28,600
NBJIF BEH(CHH) JAL JAL 22,700 73% | A:23,100, £:23,600, £:21,800, H:26,100
BIRE=1BJI BREX R (CHA) JAL JAL 29,000 68% | 8:30,300, A:29,500, % £:30,400, H:32,700
B )1 F RHRE(CHH) JAL JAL 27,400 69% |8 A:27,900., £:28,500, +:30,600, H:29,700
REER=1BJII REARFE BHE(CHHE) JAL JAL 29,400 66% | B A:29,900, £:31,600, +:31,000, H:33,500
ABJI1F RE(CPH) JAL JAL 29,400 66% H A:29,900., €:31,200, £:31,800. H:30,700
=iF="1EJI| = I F HECHH) JAL JAL 28,400 67% | F:29,000, A:29,400. £:29,800, £:30,100, H:30,700
HBJIF BHE(CHHE) JAL JAL 28,500 67% F:29,500, A:29,000. %£:30,100, 1:29,800, H:30,200
HRECHA)=XE HRCHA)F REA JAL JAL 19,900 62% | B%:20,200, +:20,600. H:20,300
2 JAL JAL 25,400 56%  [%:27,500. 1:26,500. H:26,400
REHR RER JAL JAL 19,400 63%  [H:19,500. %£:19,900, £:19,100
f2 JAL JAL 27,400 52% £:30,800, 1:28,300, H:28,600
KR (R =XE R (RFT) 5 RER JAL JAL 14,000 62%
126 JAL JAL 18,000 56% |A1:20,600. £ H:20,200
RKEH BER JAL JAL 14,000 62%
& JAL JAL 18,000 56% |£:20,900. H:20,500
FLIR (BT Fm) =RE FLIR (BT k) F 12 JAL JAL 29,400 60% [H:30,800
RKEHX 12 JAL JAL 29,400 60% |£:30,000, +:30,800
BEXE="HKERE BEXAER mzE JAC JAC 11,900 57%
ok BERF E2E JAC JAC 11,900 57%
fEz B="iE (3H) mzBEH ok BER JAC JAC 15,600 54%
P (ARER) Pk B ER JAC JAC 15,600 54%
HRCHHE)=EF*5 BHRECHA)H BRE JAL JAL/JAC | 22,000 63% | 8:23,500, &A£:24,000, 1:25,300, H:22,400
EFEX ERE JAL/JAC JAL 23,200 61%  |A%:24,900, £:24,200, H:25,200
HECHHE) =RAS BHRCHA)H# ERS JAL JAC 22,000 64% |£:23,900, +:24,900
EAEHE BRE JAC JAL 22,800 62% | B:24,100, & 1:22,400, £:24,500, H:24,800
K (R =BAE KR ((FF1) ERBE JAL JAC 20,400 56% |A:20,500. £:20,800. £:21,200, H:20,200
BAEH BERS JAC JAL 20,200 57% | B 7A:20,600. £:22,200, £:19,800, H:22,100
BIRE =% (3FH) BREH TBEXE JAL/JAC RAC 23,800 55% | H:24,300, B:25,500
shiE (IRER) F TEKE RAC JAL/JAC | 25500 52%  |7:25,900, £:27,100
EBE=EAS ARk BRE JAC JAC 16,500 56% |+ H:14,900
EAEHE BERE JAC JAC 16,500 56% [+ H:14,900
EE=1FFE fa ) F BERE JAC JAL/JAC | 16,900 53% |B:17,300, +:15,300. H:15,700
EBEFEX BRE JAL/JAC JAC 17,300 52% |+£:15,600, H:15,300
[L&=HBJIl LEH HE (CHA) JAL JAL 27,600 66% | B A:28,100, £:29,100, 1:26,400, H:27,800
ABJIF RE(CHH) JAL JAL 25,700 68% | B A:26,200. £:28,000, +:26,900. H:26,100
WL ==& NIIE:S 12k JAL JAL 18,900 59% | A:18,000, £:18,500, £:19,400, H:18,400
= I F 12 [E JAL JAL 17,200 63% |AR:17,600. %£:18,500, + H:18,400
e (RER) =|EKE ARER CGpifE) 5 RAC JAC 16,000 67%
BEAEH il JAC RAC 16,000 67%
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